WHBF AT
e 1 e
54 x 30% = 51 x90% =

73 x 30% = 54 x 60% =

75 x20% = 57 x 40% =

65 x 70% = 81 x 40% =

39 x 80% = 100 % 20% =

81 x 50% = 31 x 50% =

97 x 10% = 86 x 40% =

77 %< 70% = 00 x 40% =

86 X 60% = 39 x 20% =

97 x 60% = 68 x 60% =
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BRI A b
e 451 S

54 x30% = 16.2

73 x30% = 21.9

75 x20% = 15

65 x 70% = 45.5

39 x 80% = 31.2

81 x 50% = 40.5

97 x 10% = 9.7

77 x70% = 53.9

86 x 60% = 51.6

97 x 60% = 58.2

51 x90% = 45.9

54 x 60% = 32.4

57 x40% = 22.8

81 x40% = 324

100 x 20% = 20

31 x50% = 15.5

86 x 40% = 34.4

90 x 40% = 36

39 x20% = 7.8

68 x 60% = 40.8
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